Summer Reading 2025 for the Fourth Form

The Plan: Read, Read, Read!

Read a total of 1200 pages.

ROGER LANCELYN CREEN. ALL of us will read The Adventures of Robin Hood by
q“x" ol Roger Lancelyn Green and be ready to discuss the book
N CTHE ~ on the second day of class in the fall.

‘;- | This book is readily available at most libraries and can
© also be found on audiobooks.

|« Along with Robin Hood (which is 320 pages), your reading
« | page count must total 1200 pages.

* | You may use audible books to fulfill your summer reading
. assignment since this method invites the entire family to

“read” together while traveling, etc. When school begins
in September, we will explore the archetypal concept of the “hero’s journey” as it
applies to the characters we read. So... as you read, be on the look-out for what
makes the characters in your stories heroic, what challenges they face that
shape them, and how they emerge at the end. We will follow and explore these
hero’s journey patterns throughout the year.

ADDITIONAL TITLES TO CONSIDER:

Adam of the Road by Elizabeth Gray Vining (Middle Ages)

The Trumpeter of Krakow by Eric Kelly (Medieval Europe)

The Shakespeare Stealer by Gary Blackwood (Shakespearean England)
The Red-Headed Princess by Ann Rinaldi (Elizabethan England)

The Second Mrs. Giaconda by E.L. Koningsburg (Renaissance)

“Reading is a basic tool in the living of a good life.”
Mortimer Adler



Fill out the form below.

Note: A parental signature is required on this form.

This form will be collected on the first day of school

--Summer Reading Pledge and Report: 1200 Pages Total--

I have read the following books this summer:

Title Author Number of Pages

Total number of pages read:

Student’s Signature:

Parent’s Signature:




August Math Work

(do not open until August 1)

Hello dear Pre-Algebra students!

I hope you have had a wonderful summer so far, with lots of relaxing,
fun outside activities, and reading. Now that it is August, let’s dust off
the math files in your brain and do a little refresher before the school
year begins. Your “First Few Weeks of School Self” will thank you for
wearing your math hat again once you get underway in Algebra.

The even problems on pages 2-16 are required. The odds are
suggested (and those have the answers at the back...but don’t check
them until you have done the work!). You could do the odds first,
check your work, and then complete the even problems.

Also, I highly suggest that you spend some time on the End-of-Year
Benchmark Assessment multiple choice questions also included.
Working on this will bring back a lot of what we did last year, and
prepare you to start Algebra on more solid footing. Try it on your
own. first; the answer key is included at the back to help you if you
need a boost. This, however, is optional!

This packet will be due on the first day of school to receive credit for
your required problems (again, even problems on pages 2-168).






Adding Integers

Adding Integers with the Same Signs:

1. Add the absolute values of the numbers (without their signs).
2. Keep the sign (either positive or negative) of both numbers.
Adding Integers with Different Signs:
1. Subtract the absolute value of the numbers (without their signs) having the largest
number on top.
2. Keep the sign of the largest absolute value. (larger number determines the sign)

EXAMPLES:
Same Signs: Different Signs:

7+10 =17 | 4 + (-9) = -5
-6 + (-5) = -11 7 +18 = 11

Find each sum.

1. 21 + 15 2. -11 + 81

3. -1+ 39 4, -8 + (-24)

5. 90 + (-79) 6. 31 + 96

7. 25 + (-90) 8. 15 + 31 + (-20)

9. 8+ 41+ 35 10. 18 + (-80) + (-45)







Subtracting Integers
SAME, CHANGE, CHANGE

When Subtracting ANY Numbers:
1. Change any minus sign to a plus.

2. Change the sign of the number immediately after each minus to its opposite
(change a positive number to a negative and vice-versa).
3. Follow the rules for adding integers.

EXAMPLES:
Two Numbers: More Than Two:

4 -1 6-1-(3)~»>
4 4 (-1) = -5 6+ (-1)+3 =8

Find each difference.

1. 39- 18 2. 65-72

3. -85 - (-42) 4. -15 - (-86)

5. -21 - 24 6. -15 - (-57)

7. 652 - (-57) 8. 346 - 865

9. -8 - (-4) - (-6) 10, 90 - (-26) - (-48)







Multiplying/Dividing Integers

When Multiplying ANY Numbers:

1. Multiply or divide the absolute values of the numbers.
2. For the sign of the product/quotient, follow the rules below.

+ Positive x Positive = Positive Positive + Positive = Positive

+ Negative x Negative = Positive Negative + Negative = Positive
» Positive x Negative = Negative Positive + Negative = Negative
* Negative x Positive = Negative Negative <+ Positive = Negative
e If there are an even number of negative integers being multiplied/divided, the

product will be positive.
e If there are an odd number of negative integers being multiplied, the product will
be negative.

EXAMPLES:
2(8) = 16 8- 6 =-48

-10 x -10 = 100 2(-5) = -10

Find each product/quotient.

1. -8(6) 2, -10: -10
3. -24 +8 4 21
g
5. -14(-4) 6. -96 + -4
5 48 8. -15 =+ -15
16
9. 5(11)(-3) 10. 10(-8)(-2)







Adding/Subtracting Rational Numbers
When Adding/Subtracting ANY fraction:

1. Use GCF to get common denominators.
s Add/Subtract numerators.
s Denominators stay the same,
2. Add/subtract the whole numbers if needed.
“When subtracting, the largest absolute value goes on top*
3. Reduce to lowest terms.
4. Use the sign of the number with the larger absolute value.

When Adding/Subtracting ANY numbers in decimal form:

1. Line up the place values.
2. Use zeros as place holders.
3. Integer rules apply.

EXAMPLES: 43,29 4 3,127

—2%—5-‘9£=—2%+H5%= 7 8 S
T 46.417

Find each sum or difference.

g2l 14,2
12 12 21 7
3 E.__ _1§+i
8 3 4 16
5. 4.2 6. 4.2
7 7 25 5
7. 85.3 - 37.07 8. 27 +5.19
9. -34.1 + (-17.63) 10. -18.21 - (-7.3)







Multiplying/Dividing Rational Numbers

When Multiplying ANY fractions:

1. Rewrite all numbers (whole numbers, mixed numbers, integers) as a fraction.
2. Reduce by simplifying a numerator with a denominator.

3. Multiply numerators. Multiply denominators.

4. Integer rules apply for the sign.

When Dividing ANY fractions:

1. Rewrite all numbers (whole numbers, mixed numbers, integers) as a fraction.

2. Change the division sign to multiplication and take the reciprocal of the fraction
immediately after the division sign.

2. Reduce by simplifying a numerator with a denominator-,

3. Folfow rules for multiplying fractions.

When Multiplying ANY numbers:
1. Multiply the numbers.

2. Count how many total numbers after the decimal.
3. Put the decimal in so that there are the same amount of nhumbers after the decimal.
4. Integer rules apply for the sign.

When Dividing ANY numbers:

1. Move the decimal out of the divisor and then that many times in the dividend.
2. Use zeros as place holders.

3. Divide and bring decimal straight up in the quotient.

4. Integer rules apply for the sign,

EXAMPLES: .
1 2 0.63+0.9 = .9

—_] ==

9 3

Find each product or quotient.

1. e 2. 2§.3l
6\ 5 6 3
3. ~10+> 4, 26,112
8 7 U35
5. 85(0.07) 6. —0.104+(-013)

7.13.42:67.1 8. 2.001(0.05)







Evaluating Expressions

When Evaluating ANY Expression:
1. Substitute each variable with its assigned value.

2. Simplify the expression using order of operations.

* Be carefull When replacing a variable with a negative value, put parentheses
around the value in the expression.

EXAMPLES:
Evaluate the expression 4xy, if x = -5 and y = -6.

dxy > 4(-5)(-6) > 180

Evaluate each expression.

1. Evaluate 3x when x = -6. 2. Evaluate -8x when x = -5,

3. Evaluate 0 +vy wheny = -12, 4. Evaluate % when x = -8.

6. Evaluate -2(x + y) when x= -1 and

5. Evaluate y = 4.

4 wheny = -12.
y

7. Evaluate 3(y + x) when x = 6 and 8. Evaluate (a + c) - b when a = 0.4,
y = 1. b = 3.5, and c = 15.61.

9. Evaluate ¢ ~d - a when a = 0.4, 3
c =15.61, and d = 0.03. 10. Evaluate x + y when x = 3 and

W

y:







Translating Into Expressions

To Translate Sentences into Algebraic Expressions:

1. Identify the variable by telling what phrase the variable stands for in the sentence.
(This could be the phrase “a number” or it could be the unknown information in the
sentence).

2. Translate the sentence into related numbers, operations, and variable(s). Usually,
the order of the translation will mimic the order of the sentence. (It is helpful to
know what words and phrases represent the four main operations, addition,
subtraction, multiplication, and division.)

EXAMPLES: -
"Seven less than some number” “Thirteen dollars plus the cost of food”

Let n = some number>n -7 Let f = cost of food > 13 + f

Identify the variable. Then, translate into an expression.

1. A number more than seven 2. The product of some number and six
3. Some number decreased by twelve 4. The quotient of ninety and a number
5, Eight less than some number 6. Twice the number

7. Half of some number 8. Seventeen more than a number

9. Brian is triple his nephew’s age 10. Maria ran 4%2 miles more than Amy







Two-Step Equations
To Solve Two-Step Equations:
1. Isolate the variable by using inverse operations

2. Check your solution by replacing the variable with the integer.

Examples:
26—10=12 Tx+9=-12 —3x+4=19 §+7=10
+10 +10 -9 -9 4 -4 7 7
2x =22 7x =-21 3x=15 §=3
+2 2 =7 +7 +-3 +-3 *3 3
x=11 x=-3 Xx=-5 x=9

Solve and check. Show all of your work.

1. ém+1=-23 2. 5+ 4d = 37

3. 3-7y=-25

5. %e+25=47 6, 15-——w=-3

7. 8(x + 3) = 72 8. -7(z-6) = -70

9. -0.6(r +0.2) = 1.8 10. :—(w~~)=—%







Writing Equations

To Write an Equation:

1. Identify a variable. Ex: Let x = the number
2. Look for key words: Ex decrease (-), increase (+), Is (=)

| Example:

A number increased by 6 is 24,
Let x = the number

X+6=24

Five less than a number times three is -25

Let x = the number

3x-5=-25

Identify the variable. Translate into an equation.

1. Twice a number decreased by 7 is
19.

2, Six times a number increased by 8
Is -84,

3. Four minus one-fifth a number is -6.

4. Eight plus two-thirds a number Is 12,

5. A company charges $2 for each

balloon in an arrangement and a $3
delivery fee. You have $9 to spend.
Write an equation for this situation.

6. It costs $7.50 to enter a petting zoo.
Each cup of food to feed the animals is
$2.50. If you have $12.50, how many cups
can you buy?

7. Jamal and two cousins received the
same amount of money to go to a
movie. Each boy spent $15. Afterward,
the boys had $30 altogether. How much
money did each boy receive?

8. Mr. Singh had three sheets of stickers.
He gave 20 stickers from each sheet to his
students and has 12 total stickers left.
How many stickers were originally on each
sheet?

10







Solving and Graphing Inequalities
To solve and graph inequalities:

1.Isolate the variable by using inverse operations.

2.Graph the solution on the number line.
- A closed circle is used when the point is included. (<, =)

- An open circle is used when the point is not included. (<,>

Example:
X+9<16

Since x Is less than 7, shade all values that are less than 7. Use an open circle.

Solve and graph each inequality:
l. x-4<10 2. X+9>12

3. 4x <2.4 4. 0.7x=56

5. X<g 6. X»15

4 9
7. x-7.3>24 8. x+52 <a1
3
11







Geometry

Area of square: s? Area of trapezoid: b—‘iz-ﬁ-h perimeter: add all sides

Area of rectangle: heh Area of circle: 7 e7? circumference: 2oz er or 7 eod

h
Area of parallelogram: beh Area of triangle:é;— Volume of prism: Area of the base e h or lwh

Solve. Show all work!
1. Find the circumference of a circle 2. Find the perimeter of the composite
shape.

whose radius is 2% feet. Round to

8 yd

the nearest tenth.

3. Find the area of a triangle whose 4. Find the area of a square whose side
base is 7.5 cm and whose height is 2

11 cm. Round to the nearest tenth. IS 5’3" m.

5. Find the area of the square given a 6. Find the volume of a cube whose side
radius of 5 cm. is 14 meters.

7. Find the volume of a rectangular 8. Find the volume of the square

prism. pyramid.

10 mm

"6 mm

& mm

&m

12







Proportions

Setting up:
1. Create two equal ratios.

2. Label each numerator and denominator so that they match.

Solving:

1. Cross multiply by multiplying the two diagonals and set them equal to one another.

2. Solve.

Solve. Show All Work!

3el0=5ex

6 =x

1, i=—8— 2. §=,4_
21 3 2 x
3

3, 2173 s S4_81
1.7 x 0.8 =x

5. Given the scale 2 cm = 3 m, how
long is the scale drawing of a basketball
rim that is 16 m. tall?

6. To tie dye a shirt orange, you need 2
parts red to 5 parts yellow, How much
yellow do you need if you have 13 parts
red?

7. Find the unit price of a case (12
cans) of soda for $2.25.

8. Arectangleis 11.4 in tall and 5.4 In
wide. If it is reduced to a height of 5.7
in then how wide will it be?

13







To Find k:

Constant of Proportionality

1. Find the unit rate, y/x.

To Determine if Proportional or Not:
1. Check that every y/x is the same or “constant.”

Cans of Paint (x}

3

19

6 1 9] 2

Bird Houses Painfed (y)

15

30

18 | 27 6

For every can of paint you could paint 3 bird houses.

15/5=3; k=3

Use the tables below to find the constant of proportionality, k, or to
is proportional or not.

determine whether the relationshi

1. Find the constant of proportionality,

xhours) | yicookies] .
1 4

2 8

3 12

4 16

2. Find the constant of proportionality.

x{weeks) - - | ylyears)
2 4

3 6

5 10

9 18

3. Find the constant of proportionality.

xthours) 7 yimiles) . -
1 o

2 10

3 15

a4 20

4. Find the constant of proportionality.

dollars i | y(dollarsin
sales] o | commissions) - o
$30 $3
850 5
80 58
$90 54

5. Do x and y have a proportional
relationship? Explain your answer.

‘x(minutes) | y{gallons)
2 30
3 45
5 60
6 90

6. Do x and y have a proportional
relationship? Explain your answer.

x{months) | y({dollars)
2 548

3 672

4 88

5 5120

14







Graphing Relationships

To Graph and Determine Proportionality:

1. Plot each ordered pair, (x, y), by moving right x units and up y units from the origin.

2. Check that the points are in a line and would include the origin, (0, 0).

3. If so, the relationship is proportional; if not, then it is not proportional.

BRI P iel ] % A
% 1 Jy=um o

i

e

2 {y=mm | % |

Determine whether the relationship between the two quantities

Tistonce foR

coseBBEERELE

7 4«
Time

Proportional; points align; (0, 0)

shown in each table is proportional by graphing on the plane.

1. 2.
 Mrumber of tennis ballssold) || 3 | 4| 5| 6 ¥gallons} | 1 3 4
i yitoteleast) < o0 ] 6 | 8| 10] 12 viauartsi | 4 12 16
¥ ¥
20 20
18 18
16 16
14 14
12 12
8 8
6 6
i 4
2
X X
0 T2 3 4 s a " 54
3. 4.
 x{number of video gamesvented) | 1| 2 | a | 4 x{number of minutes) | 3 4 6 8
e 3 6171 8 (vinumherofcalodest | 4 1 8 | 12.] 16
¥
20 [ 20
18 18
14 14
10 10
8 8
M &
‘ 2
2 X
e X
4 1T 2 3 4 05 0 ! o4 s

15







Percents

Setting Up:

% t(i
1. Setup a proportion o _ _part(is)

100~ whole(of)

2. Labels must match vertically or horizontally.

Solve:
1. Solve by cross multiplying.

Sydney completed 3 out of her 5 skill sheets, what percent did she complete?
3completed _ Y%completed

Stotal

100total

1. Express 30% as a fraction in simplest
form,

4
2. Express 18§ % as a decimal.

3. If 125% of a number is 20, what is the
number?

4, 33—;—% of 150 is what number?

5. What percent of 52 is 6.247

6. A bike that Is originally $240 is on sale
for 20% off. What is the sales price?

7. In your class, there are 8 girls and 14
boys. What percent of your class is girls?

8. 272 out of 320 students in your school
were surveyed about their favorite soda.
What percent of the school population was
surveyed?

9. Diane’s allowance is $20 per week. She
saves 30% of her allowance. How much
does she save each week?

10. Your Dad bought a concert ticket for
$126. He said that you have to pay
75% of the cost of the ticket. How much
did you have to give your Dad?

16







ODD ANSWERS

ADDING INTEGERS:

1) 36 3) 38 5) 11 7)-65  9)84
SUBTRACTING INTEGERS:
1) 21 3)-43  5)-45  7)709  9)2
MULTIPLYING /DIVIDING INTEGERS:
1) -48  3) -3 5) 56 7) 3 9) -165
ADDING /SUBTRACTING RATIONAL NUMBERS:

5 7 >
1) 52 3) =L 5y 2 7) 48.23 ) -51.73

) < ) 5 ) . ) )

MULTIPLYING/DIVIDING RATIONAL NUMBERS:
1) % 3) —26% 5)5.95  7)0.2

EVALUATING EXPRESSIONS:
1) -18 3)0 5) 12 7) 21 9) 15.18

TRANSLATING INTO EXPRESSIONS:
For all of the problems, let n = the unknown.

1)n+7 3)n-12 5 n-8 7)%nor—g 9) 3-nor3n
TWO-STEP EQUATIONS:
I)m=-4 3)y=4 5)e=24 7)x=6 9)r=-3.2

WRITING EQUATIONS:

For all of the problems, let n = the unknown.

1)2n-7=19 3) 4——51—n=—6 5) 2n+3=9 7)3(n - 15) = 30

SOLVING AND GRAPHING INEQUALITIES:
1) X < 14 twfumcmn(D) ]
13 14

)

3) x < 0.6 i
0.5 0.6 0.7

5) X <32 e s

31 32 33

7) x> 31.3 ] q,‘ N e

17






GEOMETRY:

1) 17.3 ft or 1—2?1& 3) 41.25cm?  5) 100 cm? 7) 216 m?
PROPORTIONS:
1)62 3) 2.5 5) 10% cm 7) $0.1875

CONSTANT OF PROPORTIONALITY:
1Yk =4 3Yk=5 5) Not proportional; 60/5 £ 15

GRAPHING RELATIONSHIPS:

1) Proportional; points align; has (0, 0) 3) Not proportional; points do not align

PERCENTS:
1) % 3) 16 5) 12% 7) 36. 36 % 9) $6

18
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Name: Date:

Assessment Guide @
End-of-Year Benchmark Assessment

Suggested Time:
90 min

Section A Multiple-Choice Questions (20 x 2 = 40 points)

€D Which of the following puts Y101, —47—5, -2, and V46 in order from least to greatest?

@>—2n<—47—5<3\/m<@
@—%5<—2n<«/%<w
@)—%<—2n<W<«fE
(@—2n<—4;—5<m <3101

€ lan’s seafood restaurant has a cubical aquarium that has a volume of 729 square feet.
What is the length in feet of each side of the aquarium?

(B) 11
©10
(D)8

@ A horse weighs 455 kilograms. A spider weighs 24,800 milligrams. How many more kilograms
does the horse weigh than the spider?

(A) 454.9752 kilograms

(B) 454.752 kilograms NO‘{T’ :
(C) 452.52 kilograms ( kg = 1,000,000 Wgwf)rms

(D) 430.2 kilograms






&’ Ata bakery, the cost of 6 muffins is $16.50, and the cost of 9 muffins is $24.75. If x

represents the number of muffins being sold and y represents the cost of muffins being
sold, what is the slope of the line that represents this situation?

(& 2.25
(B)2.75
(©3.25
(D) 3.75

Luke is twice as tall as David. David is 6 inches taller than Brian. The combined height of Luke,
David, and Brian is 12 feet. Which equation can be used to determine x, Luke's height in feet?

—x+’§‘+§+6=12
2x+x+x—6=12

(©2x+x+x-3=12

X, X —
®X+§+§-§—-12

A system of linear equations is given.

2y=14x+22
8x+ 7y=-37

Using the substitution method, what is the solution to the system of equations?

®x=—3,y=—10
(Bix=-2,y=-3
©x=-1,y=4

®x=5,y=~11

© 2020 Marshall Cavendish Education Pte Ltd
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A relation has these ordered pairs:
(_'5! 2)1 (3! 4)! (4! “5)! (6, 4)! (8= 3)

What type of relation is this?

(A) one-to-one
one-to-many
(€) many-to-one
(D) many-to-many

Which set of lengths forms a right friangle?
(A 101n., 24 in., 25in.

®9ft, 151, 17 ft

(©16m,62m,65m
11 cm, 60 cm, 61 cm

Which table of values represents a linear function?

5 7 8
-5 1 4
3 7 )

2 4 5
1 6 11
8

8 10







@ When plotted on a graph, Sara lives at (1, —3) and lan lives at (0.5, —1). If each unit on the
graph represents a mile, what is the distance in miles between Sara's house and lan’s house?

&) 2.1
2.5
©4.0
4.3

} Cole uses a cootdinate plane to draw the positions of two flowerbeds. The vertices of the
first flowerbed have coordinates K (-4, 2), L (-2, 7), M (1, 4), and N (- 1, - 1). The second
flowerbed, K'L'M'N’, is a reflection of the first flowerbed over the line x = 1. What are the
coordinates of the second flowerbed?

B K (-4,-2), L' (-2, =7), M'(1, ~4), N' (-1, 1)
®K (4,2), L7(2,7), M (-1, 4), N' (1, = 1)

© K'(-4,0),L'(~2,-5), M’ (1, -2), N'(~1, 3)
K'(6,2),L'(4,7), M’ (1, 4), N (3, - 1)

{3 Melissa’s house is located at (- 6, — 7). The bank is located 2 miles north (up) and 6 miles
east (to the right) of her house. The library is located 3 miles south (down) and 2 miles west
(to the left) of the bank. If each unit on the graph equals 1 mile, where is the library located?

(A (~1, 4)
® @4, -1)
©(-2,-8)
D (-7 -3)

© 2020 Marshazll Cavendish Education Pte Ltd
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Triangle ABC, located at A (3, —4), B (2, - 1), and C (5, -8), is dilated by a scale factor of —3
to form triangle A’B’C’. Triangle ABC is also rotated 20° about the origin to form triangle
A”B"C". Which statement below is true?

Triangle ABC to triangle A'B’C’ preserves the shape and size, while triangle ABC to
triangle A”B”C” only preserves the shape.

Both transformations preserve the shape, but not the size.

@ Triangle ABC to triangle A”B”C” preserves the shape and size, while triangle ABC to
triangle A'B’C’ only preserves the shape.

@ Both transformations preserve the shape and the size.

The diagram shows the front view of the top of a house. Which test proves that triangle
ABC is congruent to triangle DBC ?

B

31t

AR c b

8 ft

d—
L]

(A)SSA
SAS
(C)AAS
(D) ASA

Cameron is making a conical party hat with dimensions shown. The bottom of the hat is open.
How much paper in square centimeters is needed? Use 3.14 as an approximation for .

(A)1,130.4
1,158.66

(€)2,260.8
(D)2,317.32







{3 Which test proves that triangle PQR is similar to triangle PRS?

@Three pairs of corresponding side lengths have equal ratios.

Two pairs of corresponding angles have equal measures.

@ Two pairs of corresponding side lengths have equal ratios and the included angles
have equal measures.

Triangle PQR is not similar to triangle PRS.

} A basketball, when fully filled with air, has a diameter of 8 inches. How much air in cubic

inches is in the basketball? Use 3.14 as an approximation for 7. Round your answer to the
‘nearest tenth of a cubic inch.

2,143.6
1,607.7
(C)267.9
(D) 201.0
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» Which sequence of transformations maps triangle LMN onto triangle XYZ?

y

S

+ N

/ X
b ~f - -3 -p O ? /4 5\ 7
x/\ = N

AR AN
2 B
[

w

@ A reflection over the line x = 1 and then a translation of 1 unit to the left and 3 units down
A translation of 1 unit to the left and 3 units down and then a reflection over the line x = 1
(C) A rotation 180° clockwise and then a translation of 1 unit to the right and 5 units down

(D) A transiation of 1 unit to the left and 3 units down and then a rotation 180° counterclockwise






(&) Strong, nonlinear association
Weak, negative nonlinear association
(€) Weak, positive linear association

@ Strong, negative nonlinear association

@ 2020 Marshall Cavendish Education Pte Ltd
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